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[ I ] 次の 2重積分を計算せよ.

(1) 領域 D1 = {(x, y) | 0 ≤ x ≤ 1, x ≤ y ≤ 1}
を図示し，

∫∫
D1

dxdy を求めよ．

(2) 領域 D2 = {(x, y) | 0 ≤ x ≤ 1, x ≤ y ≤ 2x}
を図示し，

∫∫
D2

(
x2 + y2 + 1

)
dxdy を求めよ．

(3) 領域 D3 = {(x, y) | 1 ≤ y ≤ 2, 0 ≤ x ≤ y2}
を図示し，

∫∫
D3

x

y
dxdy を求めよ．

(4) 領域 D4 = {(x, y) |x2 + y2 ≤ 1, y ≥ 0}
を図示し，

∫∫
D4

x2y dxdy を求めよ．

(5) 領域 D5 = {(x, y) |x ≥ 0, y ≥ 0, x + y ≤ 1}
を図示し，

∫∫
D5

(1 − x − y) dxdy を求めよ．

(6) 領域 D6 = {(x, y) |x2 + y2 ≤ x}
を図示し，

∫∫
D6

√
x dxdy を求めよ．

(7) 領域 D7 = {(x, y) | 1

x
≤ y ≤ 2, 1 ≤ x ≤ 2}

を図示し，
∫∫

D7

yexy dxdy を求めよ．

[ II ] 次の 3重積分を計算せよ.

(1)

∫∫∫
D1

z dxdydz

D1 = {(x, y, z) | 0 ≤ x ≤ 1, 0 ≤ y ≤ x + 1, 0 ≤ z ≤ x + y}
を求めよ.

[ III ] 次の積分領域を図示し，積分の順序を変更せよ．

(1)

∫ 1

0

dx

∫ x

x2

f(x, y) dy

(2)

∫ 1
2

0

dx

∫ 1−x

x

f(x, y) dy


